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Chapter 5.6 — Applications of Quadratic Functions (Word Problems)

egl: Mary stands on the top of a building and throws a ball upwards. The
ball travels according to the equation h = -16t* + 384t + 50, where h is the
height of the ball off the ground in meters at t seconds after it was thrown.
a. How far is Mary above the ground when she throws the ball?

b. What is the highest vertical point that the ball reaches?

c. How long does it take for the ball to reach this highest vertical point?

.

=50 = -6 (47 - 244) ==
ho-ep b - 16 ({224t + 1)

d. After how many seconds does the ball hit the ground?
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eg?2: Find two numbers whose difference is 12 and whose product is a
minimum. What is the minimum product?
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eg3: Two numbers have a sum of 20. Does the sum of their squares have a
maximum or a minimum value? Determine this value and the two numbers
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egd: A rancher has 800m of fencing to enclose a rectangular cattle pen along
~ ariverbank. No fencing is required along the riverbank. Find the

dimensions that would maximize the area for the cattle to graze. Also, what
‘is the max. area?
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eg5: A 400-room hotel 1s three-quarters full when the room rate is an
average of $80 per night. A survey shows that each $5.00 increase in room
rental fee will result in 10 fewer customers. Find the nightly rate that will
maximize income. What is the maximum income?
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